Government of Jammu and Kashmir
OFFICE OF THE SUPERINTENDING ENGINEER,
SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE
Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Email:sehydbla@gmail.com

nt/S:- Mohammad Abdullah Pujoo S/o:- Haji Ghulam Hassan Pujoo R/o:- Sultanpora Pattan Baramulla GST No:- 01 AOJPP3685F1 ZX

Advertised Amount: ₹211.98lac Allotted Amount:- ₹1,97,67,177.00 Major Head:-4215-JJM

Time of completion: 120days

Regd No: CE/I&FC/Sgr/02(Two)/AAY(Civil & Sanitary)/2019-20.

### {ORDER No: 19/SE/HYD/SPR/JJM of 2022-23} Dated: -24-12-2022

# Subject: Fixation of Contract for:

Laying and fitting of GI distribution system and construction of 1.00 lac gallons capacity Service Reservoir, Retaining wall, staff quarter, approach road, chain link fencing, sluice chambers and land development of plant premises for W.S.Scheme Laman Chewa under JJM (Tender ID: 2022 PHE 168403 5)

#### Reference:

- Executive Engineer PHE Division Sopore's e-NIT No 07/JJM/JSDS of 05/2022 dated: 04-05-2022 issued under endorsement No: JSDS/JJM/763-74 dated 04-05-2022.
- Revised District Action Plan (DAP) approved by the Chairman DJJM Bandipora circulated vide No: DDCB/BPR/2022/2056 Dated: 16-07-2022
- Minutes of Meeting held with District Development Commissioner Bandipora (Chairman DDJM) on 23-08-2022 minutes issued vide order No. 210-DDCB OF 2022. Dated: 02/09/2022, under endorsement No. DDCB/JJM/2022-23/3036-39 Dated: 02/09/2022.
- Administrative Approval Accorded by Chief Engineer Jal Shakti (PHE) Department Kashmir vide Order No: CE/PHE/DB/JJM/311 of 12-2022 Dated: - 09-12-2022.
- Technical Sanction issued by Chief Engineer Jal Shakti (PHE) Department Kashmir's Order No:-CE/PHE/DB/772 of 12/2022 Dated: 13-12-2022.
- Minutes of Meeting of District Contract Committee circulated vide No: SE/Hyd/JJM/3583-3606 dated: 30-06-2022.
- Amendment in operational guidelines for the implementation of Jal Jeevan Mission issued by NJJM, DDW&S ministry of Jal Shakti GOI vide F. No W-11016/10/2022-JJM-IV-DDWS Dated:- 21-06-2022.
- 8. Modus operandi communicated by Chief Engineer PHE Kashmir Vide circular No CE/PHE/MC/DB/13745-83 Dated: 26-07-2022.

#### Dear Sir.

For and on behalf of Lieutenant Governor of Union Territory of Jammu and Kashmir, the contract for above subject work is hereby fixed on the rates quoted and subsequently negotiated and accepted by you on Percentage rate basis as per the Annexure "A" of this allotment order with standard terms and conditions as laid down in the Annexure "B" of this allotment Order. The total cost of work shall be ₹1,97,67,177.00 (One Crore Ninety Seven Lac Sixty Seven Thousand One Hundred and Seventy Seven Only).

No:- SE/HYD/JJM/ / 2/64-78 Dated:-24/12/2022

Superinténding Engineer Hydraulic Gircle Baramulla/Bandipora

#### Copy to the:-

- 1. Chief Engineer Kmr. Jal Shakti (PHE) Department Srinagar for favour information.
- 2. District Development Commissioner Bandipora(Chairman DJJM) for favour of information.
- 3. Additional District Development Commissioner Bandipora(Member DJJM) for information.
- 4. Assistant Commissioner Development Bandipora(Member DJJM) for information.
- 5. Divisional Forest officer Bandipora(Member DJJM) for information.
- 6. Chief Planning Officer Bandipora(Member DJJM) for information.
- 7. Chief Medical Officer Bandipora(Member DJJM) for information.
- 8. Chief Educational Officer Bandipora(Member DJJM) for information.
- 9 District Social Welfare Officer Bandipora/District Tribal Welfare Officer Bandipora(Member DJJM) for information.
- 10. District Information officer Bandipora(Member DJJM) for information.
- 11. Executive Engineer Jal Shakti (PHE) Division Sopore (Member DJJM) for information and necessary action.
- 12. Executive Engineer Jal Shakti PHE Mech. Division North Sopore (Member DJJM) for information.
- 13. Executive Engineer Ground Water Division Srinagar (Member DJJM) for information.
- 14. WAPCOS Limited Bandipora for information and necessary action.
- File Concerned.



and fitting of GI distribution system and construction of 1.00 lac Gallons capacity Service Reservoir, Ining wall, staff quarter, approach road, chain link fencing, sluice chambers and land development of plant ises for W.S.Scheme Laman Chewa under JJM

er ID: 2022\_PHE\_168403\_5)

	Annexure "A" with Order No: 19 SE/HYD/JJM	of 202	22-23 Dat	ed :- 24	- 12- <b>2022</b>
S. No.	Item Description	Units	Quantity	Alloted Rate	Amount
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed All kinds of soils	Cum	4712.70	406.57	₹ 19,16,042.439
2	Earth work in bulk excavation by mechanical means (hydraulic excavator) over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge. All kinds of soil		617.62	176.01	₹ 1,08,706.910
3	Banking excavated earth in layers not exceeding 20cm in depth, breaking clods, watering, rolling each layer with 1/2 tonne roller, or wooden or steel rammers, and rolling every 3rd and top-most layer with power roller of minimum 8 tonnes and dressing up, in embankments for roads, flood banks, marginal banks, and guide banks etc., lead upto 50 m and lift upto 1.5 m.  All kinds of soil	Cum	129.80	396.64	₹ 51,483.726
4	Providing and laying of dry stone soling on horizantal on level	Cum	399.15	761.29	₹ 3,03,870.101
5	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with 1:4:8 (1 cement: 4 coarse sand: 8 graded stone aggregate 40 mm nominal size	Cum	104.06	4533.66	₹ 4,71,772.778
6	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with 1:3:6 (1 cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size)	Cum	68.10	5070.69	₹ 3,45,314.163
7	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchors blocks, plain window sills, fillets etc upto floor V level, including curing but excluding the cost of centring, shuttering and finishing with. 1:3:6 (1 cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size)	Cum	262.78	6778.52	₹ 17,81,258.175
8	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	Cum	127.59	6028.79	₹7,69,213.870
9	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforceent. All works upto plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	Cum	133.58	6507.61	₹ 8,69,287.137
10	Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions All works upto plinth level: All works above plinth level upto floor V level	Cum	114.26	8675.02	₹ 9,91,208.264
11	Cement concrete flooring 1:2:4 (1cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry and curing complete, but excluding the cost of nosing of steps etc. complete.  50mm thick with 20 mm nominal size stone aggregate	Sqm	61.08	518.00	₹ 31,639.669
12	Dry random rubble masonry with hard stone in foundation and plinth: With bond stone.	Cum	187.40	2296.47	₹ 4,30,358.056
	Providing and incorporating PGI Sheet strip 0.50mm thick at construction joints and all carraiges upto site of work complete job.	Sqm	41.13	606.13	₹ 24,929.921
	11/2				A

Superintending Engineer

and fitting of GI distribution system and construction of 1.00 lac Gallons capacity Service Reservoir, ning wall, staff quarter, approach road, chain link fencing, sluice chambers and land development of plant mises for W.S.Scheme Laman Chewa under JJM

der ID: 2022\_PHE\_168403\_5)

	Annexure "A" with Order No: A SE/HYD/JJN	1 of 20	22-23 Dat	red :- 24	- 12-2022
No.		Units	Quantity	Alloted Rate	Amount
14	Centering and shuttering including strutting, propping etc. an removal of form for: Foundations, footings, bases of columns etc. for mass concrete.	d Sqm	969,03	244.59	₹ 2,37,019.651
14.	Walla (and deline)	Sqm	1171,96	535.12	₹ 6,27,133.522
14.	2 Suspended floors, roofs, landings, balconies and access platforms	Sqm	303.25	592.70	₹ 1,79,735.365
14.	Lintel, beams, plinth beams, girders, bressumers and cantilevers	Sqm	44.85	468.91	₹ 21,030.507
15	Steel reinforcement for R.C.C. work including straightening, cutting bending, placing in position and binding all complete upto plinth level T.M.T Bars	Kg	26896.55	81.29	₹ 21,86,439.041
16	Structural steel work in built up sections, trusses and framed work,including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. Welded	kg	5563.08	95.24	₹ 5,29,806.739
17	Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	kg	1569,00	124.30	₹ 1,95,030.230
18	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	1500.00	84.88	₹ 1,27,314.225
19	Providing and fixing hand rail of approved size by welding etc. to steel ladder railing, balcony railing, staircase railing and similar works, including applying priming coat of approved steel primer. G.I. pipes	kg	48.45	162.49	₹ 7,872.550
20	Brick work with common burnt clay (non-modular) bricks of class designation 7.5 in foundation and plinth including curing in Cement mortar 1:4 ( 1 cement : 4 coarse sand)	Cum	24.13	6062.37	₹ 1,46,284.964
21	Extra for brick work with common burnt clay bricks/cement concrete bricks in superstructure above plinth level upto floor five level	Cum	24.13	1234.30	₹ 29,783.746
22	12mm Cement plaster of mix: 1:4 (1 cement: 4 fine sand)	Sqm	320.00	266.74	₹ 85,357.320
23	15mm Cement plaster on the rough side of single or half brick wall of mix: $1:4\ (1\ \text{cement}:4\ \text{fine sand})$ with a floating coat of neat cement slury	Sqm	219.45	308.18	₹ 67,630.523
24	Providing and mixing water proofing material in cement plaster work in proportion recommended by the manufacturers	kg	50.00	53.99	₹ 2,699.588
25	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or with dash fasteners shall be paid for separately): First class kail wood	Cum	0.69	99678.79	₹ 68,379.653
26	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineer-incharge. (Note: -Butt hinges and necessary screws shall be paid separately).  [St class kail wood (35mm thick)	Sqm	5.49	2884.97	₹15,838.477

Superintending Engineer

and fitting of GI distribution system and construction of 1.00 lac Gallons capacity Service Reservoir, ng wall, staff quarter, approach road, chain link fencing, sluice chambers and land development of plant ses for W.S.Scheme Laman Chewa under JJM

er ID: 2022\_PHE\_168403\_5)

o,	Item Description	Units	Quantity	Alloted Rate	Amount
27	Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge: First class kail wood (35mm Thick)	Sqm	14.68	3405.16	₹ 49,987.802
28	Providing and applying Plaster of Paris putty of 2mm thickness over plastered surface to prepare the surface even and smooth complete	Sqm	127.33	201.42	₹ 25,646.809
29	Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm	Sqm	256.62	85.60	₹ 21,967.570
30	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade on New work (two or more coats) over and including priming coat with water thinnable cement primer	Sqm	127.33	138.99	₹17,697.485
31	Applying priming coat With ready mixed pink or grey primer of approved brand and manufacture on wood work (hard and soft wood	Sqm	64.09	55.20	₹ 3,538.024
32	Applying priming coat With ready mixed red oxide Zinc Chromate primer of approved brand and manufacture on steel galvanized iron/steel works	Sqm	373.45	49.19	₹ 18,369.772
33	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture	Sqm	117.79	167.66	₹ 19,749.084
34	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade Two or more coats on new work	Sqm	373.45	113.72	₹ 42,468.127
35	Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 4 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-in charge. Made of G.I. wire of dia 4 m	Sqm	360.00	683.99	₹ 2,46,235.950
36	Providing Laying & fitting of M.S. pipes &pipe bends by cutting properly welding complete including fixing of 12mm thick M.S. flanged joints to M.S pipes after cutting of threads portion including cost of welding, nuts, bolts, washers and all carraiges involved at site (complete job)		446.97	167.85	₹ 75,023.915
37	Laying and fitting of G.I. pipes (all classes) complete,including GI fittings excluding cost of pipes, and Earth work.  15mm dia	Mtr	1000.00	23.82	₹ 23,816.050
37.1		Mtr	2500.00	24.95	₹ 62,384.250
 37.2	25mm dia	Mtr	3000.00	36.50	₹ 1,09,494.150
37.3	40mm dia	Mtr	2500.00	50.93	₹ 1,27,332.875
37.4	50mm dia	Mtr	3000.00	54.36	₹ 1,63,094.250
37.5	80mm dia	Mtr	2900.00	94.32	₹ 2,73,534.888
38	Laying of Ductile Iron Pipes conforming to IS: 8329 100 mm dia Ductile Iron Class K - 7 Pipes	Qtls	187.08	228.98	₹ 42,836.713
38.1	to positive Classify 7 Dinor	Qtls	826.92	228.98	₹ 1,89,344.317
38.2		Qtls	68.14	228.98	₹ 15,602.382
39	Providing push-on-joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket.  100 mm dia pipes	Each	219.00	83.65	₹ 18,318.310
39.1		Each	656.00	134.93	₹ 88,515.884
	1.0	Each	30.00	242.36	₹ 7,270.703

d fitting of GI distribution system and construction of 1.00 lac Gallons capacity Service Reservoir, g wall, staff quarter, approach road, chain link fencing, sluice chambers and land development of plant es for W.S.Scheme Laman Chewa under JJM

ID: 2022\_PHE\_168403\_5)

	Annexure "A" with Order No:   SE/HYD/JJM	JM of 2022-23 Dated :- プリーク2-2022				
S. Io.	Item Description	Units	Quantity	Alloted Rate	Amount	
40	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m	Cum	3327.75	185.29	₹ 6,16,591.310	
41	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 to 40 mm nominal bore	Each	2.00	621.28	₹ 1,242.556	
1.1	40 to 80 mm nominal bore	Each	2.00	1183.11	₹ 2,366.219_	
<del>1</del> 2	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 25 mm nominal bore	Each	11.00	507.14	₹ 5,578.541	
21	40 mm nominal bore	Each	8.00	657.13	₹ 5,257.062	
22	80 mm nominal bore	Each	5.00	2244.20	₹ 11,221.006	
43	Providing and fixing CI Sluice valve of standard quality ISI mark reputed make, havey duty incld. cost of flanges nuts, bolts tail pieces and all other fittings complete Job.  100 mm dia.	Each	2.00	22380.00	₹ 44,760.000	
3.1	150 mm dia.	Each	4.00	38232.50	₹1,52,930.000	
	300mm dia.	Each	1.00	74600.00	₹ 74,600.000	
<del>14</del>	Providing flanged joints to double flanged C.I. / D.I pipes and specials including testing to joints.	Each	4.00	243.62	₹ 974.463	
45	100 mm dia. Pipe Providing and fixing C.I double acting air valve of standard quality ISI mark reputed make, havey duty incld. cost of flanges nuts, bolts tail pieces and all other fittings complete Job.	Each	2.00	16785.00	₹ 33,570.000	
	80mm dia	Each	2.00	18650.00	₹ 37,300.000	
46	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but with fittings and the base support for tank		500.00	12.12	₹ 6,061.250	
47	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer- in-Charge, in skirting, risers of steps and dados over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete	Sqm	14.52	1040.48	₹15,107.820	
48	Providing and fixing &installation of Gyser of approved quality (venus/Racold/Parko/jupitor/or LS.I mark gyser) 50 lit.incl. all accessories complete in all respects with carriage(complete job)	Each	2.00	13987.50	₹ 27,975.000	
19	Providing and fixing and installation of exhaust fan of standard quality 250x250mm (complete job)	Each	2.00	1678.50	₹ 3,357.000	
50	Providing and fixing G.I. pipes complete with G.I. fittings excluding trenching and refilling etc. (external work) Medium class.  150 mm dia. nominal bore	Mtr	50.00	2021.33	₹ 1,01,066.681	
51	Supply/Providing and laying stone soling quarry 90-45mm hand broken incld. stacking laying, spreading uniformly incld. providing laying and spreading khak bajri and watering incld conslidation with power road roller 8-10 ton capacity to achieve required density incld. all carriages costs of material involved.	Cum	1891.89	1305.50	₹ 24,69,862.39	
52	Supply /providing of 63-45mm crushed stone aggegrate and incld. laying spreading uniformely in proper grade incld. considation with power road roller 8-10 ton capacity to achieve proper grade incld screeing khak bajri brooming, watrering etc incld. all carriages and costs of material involved complete job.	Cum	302.81	2051.50	₹ 6,21,214.71	

and fitting of GI distribution system and construction of 1.00 lac Gallons capacity Service Reservoir, ng wall, staff quarter, approach road, chain link fencing, sluice chambers and land development of plant ses for W.S.Scheme Laman Chewa under JJM

er ID: 2022\_PHE\_168403\_5)

S. No.	Item Description	Units	Quantity	Alloted Rate	Amount
53	Sanitary & plumbing of chowkidars/staff Quarter fittings including disposal system by way of const.of septic tank and sokage pits with carraiges (Complete job)	Job	1.00	13987.50	₹ 13,987.500
54	Electrification of chowkidars/staff quarter by providing, fixing/fittings switches, channels, boxes,wires,Boards of standard qualities ISI mark etc (complete job) incld. service line DCB Board etc of standard quality	Job	1.00	37300.00	₹ 37,300.000
55	Carriage of Materials by Mechanical transport from different sources to nearest dumping/road site of work including loading, unloading & stacking complete:  Stone/stone soling for an avg lead of 10km	Cum	399.15	267.93	₹ 1,06,942.623
55.1	Stone Aggregate 40mm for an avg lead of 25km	Cum	92.61	458.13	₹ 42,427.227
	Stone Aggregate 20mm for an avg lead of 25km	Cum	682.91	421.46	₹ 2,87,820.631
55.3	Sand for an avg lead of 25 km	Cum	467.79	421.46	₹ 1,97,155.721
55.4	Cement &steel for an avg lead of 10 km	MT	267.70	232.80	₹ 62,320.192
55.5	Bricks for an avg lead of 60km	No	11460.00	1.96	₹ 22,441.545
55.6	G.I.Pipes for an avg lead of 35 km	MT	191.03	457.04	₹ 87,307.492
55.7	Earth for an avg lead of 15km	Cum	129.80	398.13	₹ 51,677.267
56	Carraige of materials from dumping/road site to actual site of work by manual labour for an avg lead of 100 metre Stone Aggregate 40mm	Cum	92.61	257.67	₹ 23,862.671
56.1	Stone Aggregate 20mm	Cum	682.91	238.35	₹ 1,62,768.913
	Sand	Cum	467.79	238.35	₹ 1,11,495.907
56.3	cement	MT	93.87	163.86	₹ 15,381.435
56.4	steel	MT	174.00	279.20	₹ 48,581.419
	Total Amount				₹ 1,97,67,17

Superinteding Engineer Hydraulic Circle Baramulla/Bandipora

# OFFICE OF THE SUPERINTENDING ENGINEER, JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Email:sehydbla@gmail.com

Annexure "B" with ORDER No: 19 /SE/HYD/SPR/JJM of 2022-23 Dated:- 29-722022

#### **Terms and Conditions**

- The work is executed strictly as per approved design / drawing, specifications and JJM Guidelines. Any deviation or change in proposal/location is subject to the prior approval from the competent authority.
- 2. The Executive Engineer will draw the formal agreement with the contractor within 07 Days from the date of issuance of this allotment order.
- The rates allotted are inclusive of all taxes applicable as per norms amended by competent authorities from time to time. Labour cess and royalties shall have to be borne by the executing agency/contractor.
- 4. The execution of work shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department.
- 5. The executing agency/contractor shall be bound for satisfactory performance of the work for 18 months after the successful Commissioning of subject work and will have to make a trial run of the work for a period of 03 months to the best satisfaction of the department.
- 6. The **Defective Liability Period** shall be for a period of **12 Months** which shall commence after the successful completion of the Trial Run.
- 7. No liability should be created on this account.
- 8. The total cost of work shall in no case exceed beyond of ₹1,97,67,177.00 (One Crore Ninety Seven Lac Sixty Seven Thousand One Hundred and Seventy Seven Only).
- 9. In case the contractor fails to execute the work, the work shall be put to fresh tenders on the risk and cost of the contractor & the excess cost if involved shall be recovered from the contractor and strict action as warranted under contractual obligation shall be taken against the defaulter.
- 10. The time of completion of the work is reckoned **120-Days (One Hundred Twenty Days)** as per the condition laid down in the e-NIT.
- 11. The bidder shall furnish a performance security equivalent to 03% of the value of the contract within one week of the issuance of allotment order in the shape of CDR/FDR/Bank Guarantee, valid for a period of 24 Months, which shall be released after successful fulfilment of the laid down conditions in SDB/e-Nit.
- 12. Geo Tagged Photographic evidences of the work; pre-execution, during execution and post execution should be maintained by the agency on his own expenses.
- 13. The executing agency/contractor must execute the work as per the requirements/specifications detailed in the relevant/applicable IS codes.
- 14. The tests for concrete and allied materials shall have to be carried out at reputed institute as per directions of Engineer in-charge and the charges for the same shall have to be borne by the executing agency/contractor.
- 15. All Environmental norms, labour laws and all other guidelines issued by competent authorities shall be followed in letter and spirit
- 16. All other terms & conditions as laid down in the standard bidding document, PWD form-25, GFR-2017 and manual of procurement of works 2019 shall remain in force.

Head Draftsman

Technical officer

Superintending Engineer
Hydraulic Circle Baramulla/Bandipora

H.Q Sopore

#### Government of Jammu and Kashmir

#### OFFICE OF THE SUPERINTENDING ENGINEER,

## JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Email:sehydbla@gmail.com

Annexure "B" with ORDER No: 19 /SE/HYD/SPR/JJM of 2022-23 Dated: - 29-122022

#### **Terms and Conditions**

- 1. The work is executed strictly as per approved design / drawing, specifications and JJM Guidelines. Any deviation or change in proposal/location is subject to the prior approval from the competent authority.
- 2. The Executive Engineer will draw the formal agreement with the contractor within 07 Days from the date of issuance of this allotment order.
- 3. The rates allotted are inclusive of all taxes applicable as per norms amended by competent authorities from time to time. Labour cess and royalties shall have to be borne by the executing agency/contractor.
- 4. The execution of work shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department.
- 5. The executing agency/contractor shall be bound for satisfactory performance of the work 18 months after the successful Commissioning of subject work and will have to make a trial run of the work for a period of **03 months** to the best satisfaction of the department.
- 6. The Defective Liability Period shall be for a period of 12 Months which shall commence after the successful completion of the Trial Run.
- 7. No liability should be created on this account.
- 8. The total cost of work shall in no case exceed beyond of ₹1,97,67,177.00 (One Crore Ninety Seven Lac Sixty Seven Thousand One Hundred and Seventy Seven Only).
- In case the contractor fails to execute the work, the work shall be put to fresh tenders on the risk and cost of the contractor & the excess cost if involved shall be recovered from the contractor and strict action as warranted under contractual obligation shall be taken against the defaulter.
- 10. The time of completion of the work is reckoned 120-Days (One Hundred Twenty Days) as per the condition laid down in the e-NIT.
- 11. The bidder shall furnish a performance security equivalent to 03% of the value of the contract within one week of the issuance of allotment order in the shape of CDR/FDR/Bank Guarantee, valid for a period of 24 Months, which shall be released after successful fulfilment of the laid down conditions in SDB/e-Nit.
- 12. Geo Tagged Photographic evidences of the work; pre-execution, during execution and post execution should be maintained by the agency on his own expenses.
- agency/contractor must execute the requirements/specifications detailed in the relevant/applicable IS codes.
- 14. The tests for concrete and allied materials shall have to be carried out at reputed institute as per directions of Engineer in-charge and the charges for the same shall have to be borne by the executing agency/contractor.
- 15. All Environmental norms, labour laws and all other guidelines issued by competent authorities shall be followed in letter and spirit
- 16. All other terms & conditions as laid down in the standard bidding document, PWD form-25, GFR-2017 and manual of procurement of works 2019 shall remain in force.

Hydraulic Circle Baramulla/Bandipora

H.Q Sopore.